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. The ﬁg“f% in the margin indicate full marks
for the questions. ' .

1. Choose the correct answers : . . 1x6=6

(a) The population enumeration of the latest
Indian Census was conducted during

(i) 6- 28 February 2011
(i) 9- 28 February 2011
(iif) 12— 28 February 2011
(v) 14- 28 February 2011
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' (b) Which one of the follomng mformanon is
. not collected by the Census of India ?-

(i) Number of chlldren ever bom .

' (ii) Age at mamage -
(iii) Place of birth

~ (iv) Number of persons died

© When was. the first- synchronous Census '

conducted in Indm ?

@ 1871 G st
Gi) 1891 - (iv) 198]
(@ Accordlng to the Census 2011 which one of |

. the following states has the } i
iy - Owest sex ratio
@ Punjab (ii) Uttar Pradesh
(iii) Haryana - (v) Bihyy

¢) Which one of the foll

© of Census? g 1t o

@ Individual enumerptio,,
(ii) Simultaneity |
(iii) Defined periodicity
(iv) Dual record |
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3. Attempt any six of the following questions :

(f) Approximately what percentage of Indian
population is 60 years and above?

Q) 2% (i) 9%
Gi) 12% @) 15%.
2. - Answer the following questions <L 2%5=10

" (8) List two main sources of demographic data.
(b) What are the vital events 7. '

(c) Write two striking. characteristics of an age
sex pyramid of a developed country?

(@) What is "demographic dividend ?

'(¢) Define a modern census.

5%x6=30

(a) Bneﬂy list out of the informations collected
by the National Family Health Surveys.

(b) Explain what sample survey is.
(c) Write a brief note on the uses of Census.

 (d How does the age-sex structure of a
population define the future of the society ?

(¢) Distinguish the age-sex pyramid of a
developed and under developed country.
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- - (f) . Explain how the ferhhty and mortallty shape

the age-sex structure of place.

(€ Give a brief sketch of sources and quality
~ of migration data in India.

(h) Explam the importance of fertlhty related.

~ -data in Social Studies.
(i) What is the momentum of populatlon
- growth ?

4. Answer any two of the, followmg questions :
lOXZ—20

(a) List out the different items on which the

Indian census collects data.

(b) Highlight the past trends of the age-sex
structure of the world.

() What do you mean by ageing? Discuss
- various measures of ageing.
5. Answer any one of the following questions :
14x1=14
(8) Demonstrate the probable future changes in
the age-sex structure of the India Population.

~ M) Wnteadetailednoteonthem
terrelatnonshxp
between population ageing and fertility.
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(Theory paper)
Paper Code : GGY 306(B)
(Environment And Ecoli?gYi
Full Marks — 80 |
Pass Marks — 32
Time - Three hours

The figures in the margin indicate full marks
for the questlons ‘

, Objective type questions (anSWer all) :

1 1x6=6

. Ch°°s° the correct answers :

@ The ratio between energy flow at different
points m a food chain is knoWll as’

(@) Ecologxcal capaclty
(i) Ecological efficiency
(iii) Ecological assimilation
(iv) Ecological potential
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(iii) Potential to dispjaey .
* (iv) None of .the gb°§e,.'

() In an ecosystem, the energ, flow ;

S W is aiv;' |
O bidirectional (i) g -
| (d) The main nitrogen reservoi : .
~ ment is . Olr of the €nvirop.
@ Ocean (i) Rocks
(iii) Atmosphere (iv) Livin g-being

o e l ) ) e o

© in%t e‘sizrevT::: tgi;nﬁxﬂgﬁ?r&fgeﬁ
() Biological legacieg .
(ii) Alien Species
(m) Population threshojq
(iv) None of the above
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(D) If we want to study species diversity, which
of the following structural attributes will be

considered ? '
@) Patch size
(ii) . Abundance
(iii) Connectivity | |
- (iv) Species richness of fhe area under St(}dy '
Very short answer type question : |
2. - Answer all questions : | '
(@) What is biomass?
(b) What do you mean by sustaingible environ-
© ment? o ~ ‘
(c) What is the main objective of NGT ?.

2x5=10

(d) What do you mean by functional diversity -
of an ecosystem ? : :
(¢) What is response diversity ?
Short answer type question : .
3. - Answer any six of the following questions :
. ' . - 5x6=3()
(a) Write a short note on carbon cycle.

(b) Write a short note on Golden Quadrilatera]
project.
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(c) What are the major factors of desertifica-

tion ?
(d) What is the purpose ¢
survey ? w

(¢) Explain in short
silvopastoral system
tem sustainability.

(® Explain in detail the jp,
-of the ecological Principles,

(g) Briefly explain aboyt Integrated ¢ oastal 2o
one

management.

(h) Write a short note ' on
Environmental Impact Ag

@) Explain in shart, ahout different levels of

biodiversity.

Descriptive answer type question .

4. Answer any two of the following :

to urban areas.

(b) Discuss with suitabje €xample aboyt the

major reasons of biodiversity
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10x2=2¢

(a) Describe in detail the causes g s
quences of environmenta] probl i

loss,

€cological scoping

?bout_ importance of
n Maintaining €cosys-

Portance of any ope

principles of
S€ssment.

ems related
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(©) Draw an outline of the policies and
programs taken by India to minimize
environmental degradation.

Analytical answer type question :
: : tions :
3. Answer any one of the following queslzllXI-‘-M

& mpact

(@) Discuss how far Enwmmgrntou: eﬁvi-
Assessment has been “‘{‘eful

ronment as well as society: ;

nvironmen

(®) Explain in detail the threa:fi t(;:d measures

experiencing by the wofiuce such threats.

need to be adopted t0 ©
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